| SERIES:
PA
i o PB
vide superior part holding and transferring
ly and welding environments.

ISﬂ 90“1 Also see GRM Clamps Catalog for details

REGISTERED | " on 2 jaw, pneumatic clamps ideal for

Quality Management sheet metal stamping and transfer

System Certified AWHS01
i ; ) J A

TE=0%
SRS

SOLUTIONS FOR INDUSTRIAL AUTOMATION

PHD is a member of the .
MAC Distributor Network www.phdinc.com




clamps

SERIES PAGES
Series PA Swing Clamp
of Major Benefits........c.ccceveevevevcrcerceeeceeea 4
¢ aW e v “\ﬁ\:‘\@ Ordering Data........... .5
“‘ea\\ﬁ \eﬁ\\‘ at W ionS T Engineering Data...... .6
a““‘“‘a “\;\\Ga Dimensions.............. T
a‘““ OPHONS ..o, 8-10

Series PB Swing Clamp
Major Benefits........c.cceveeveveveiceicceeceeei 11
Ordering Data
Engineering Data..........c.cccccoevevevecieiccrecn, 12
DIMENSIONS ... 13
OPLIONS v 14-20
Series PEC Power Clamp
or Give ’ MaJOF BENEILS ........oeeeeeeeeeeeeeeeeeeeeeeeeneeeeenennennee
out ca“;l‘ ‘\0‘ ‘:“: grdgring_DatS ...........
misS siy\e ngineering Data
5“5\:“.3 w0og'e DImensions...........
W OPLIONS v
Series PLK Modular Pin Locating Clamp
Major Benefits........c.ccceveeveveverceiceeeceeea 34
Ordering Data.........c.cccceveveveveiceiceeeeeee 35
Engineering Data..........c.cccccoevevevecieiccrecn, 36
Dimensions .
Options.............
Lock Setting
| i ProCeAUIES. .....ovevvceeeereeee s
| 2
Series PLKD Disappearing Pin Locating Clamp
Major Benefits........ccccevueveveveiceicceeeeeea 49
Ordering Data........... .50
Engineering Data...... .51
Dimensions.............. .51
OptionS ..covveeeeeeece .52 - 59
Lock Adjustment Procedure. ...60
Clamp Actuation Steps......ccccoevvvvevievrivienene, 61
2  © Copyright 2020, by PHD, Inc. All Rights Reserved. Printed in the U.S.A. h gnm-
.
AWHSO01 www.phdlllc.com/clamps L4 (800) 624-8511 EOLUWNSFOR INDUSTRIALAUTOMATION



SERIES

PAGES

Series PLC Robust Pneumatic Pin Clamp

Major BEnefitS........cccoeveevieeiiieicceiceee
Ordering Data.........
Engineering Data....
Dimensions............ .
0ptions & KitS.....c.cevevevererciereeereceeeveve e

Series PSP Shot Pin

Major Benefits....

Ordering Data.........
Engineering Data....
Dimensions............ .
0ptions & KitS.....cceveveverecrereeecceeceveeine
Series PNC Number Cruncher®
Major BEnefits........cccoooeevieeiiiieeceieeeeee
Ordering Data.........
Engineering Data....
Dimensions............ .
OPLIONS vt
Anvils, Backers, Retainers, & Characters......... 91-92
Tip DIMENSIONS ...
Replacement Kits .
Maintenance...........cccoeeeeiveeeiiieeieceeeeeceeeeeeeae
Series PFC Heavy Duty Frame Clamp
Major Benefits.... .97
Ordering Data............. .98
Application Example... .98
Engineering Data........ .99
DIMENSIONS ... 100 - 101
Engineering Data..........cccccevevevevccrcricrcrcennn, 102
Options & KitS.....cccvevevereiciereeeceerec e 103 -105
Series PHL Heavy Lifter m
él - MajOr BENEFItS.......veeeeeeeeeeeeeee e 106
: Ordering Data......... .107
Engineering Data.... .108
Dimensions............ .109 - 110
OPLIONS vt 111-112

phdzE

3

OLUTIONS FOR INDUSTRIAL AUTOMATION WWW.phdinc.cﬂm/clamps L (800) 624-8511 AWHSO01



SWING CLAMPS

Major Benefits

» Simple design, compact size, for low weight, long life, and high
clamp force make these clamps ideal for part holding or transfer

* Available in five sizes

* Mounting patterns on three surfaces

¢ Available in left and right rotations

4

AWHS01

steel and copper arms are
supplied for standard and
welding applications

mounting patterns
on three surfaces
of rectangular body
provide flexibility in
design and clamp
mounting

flow controls are not
required
steel and Neoprene-tipped

spindles are available for
clamping rugged or show finishes

body has controlled
orifice communication

switch ready

Reed and Hall Effect
Switches are available for
easy interfacing to electronic
controls and logic systems

simple design employs hardened helical spline and three hardened
drive balls, which ensure long product life with little wear

left and right rotations can be ordered to fit application

. -
WWW.phdlnc.cﬂm/pa o (800) 624-8511 SOLUTIONS FOR INDUSTRIAL AUTOMATION



ORDERING DATA: series pa swiNG CLAMPS

Options may affect unit length. See dimensional
pages and option information details.

TO ORDER SPECIFY:

Model, Body Style, Unit Size, Arm Rotation Direction, SWITCH OPTIONS
Design No., and Additional Options if desired. BLANK - None
SW1 - 2 Reed Switches provided
UNIT SIZE SW2 - 2 Hall Effect Switches (PNP) provided
2 - 25 mm Bore SW3 - 2 Hall Effect Switches (NPN) provided
3 -32 mm Bore ARM OPTIONS SW4 - 2 Magnetoresistive Switches (PNP)
4 - 40 mm Bore DESIGN NO. BLANK - None w/Quick Connect provided
5-50 mm Bore 1 - Imperial AS - Single Steel SW5 - 2 Magnetoresistive Switches (NPN)
MODEL 6 - 63 mm Bore 5 - Metric ASC - Single Copper w/Quick Connect provided

T —
PA 'S 2 R-1-AS -TA/-SW1 - LBB

- T

BODY STYLE ARM ROTATION SPINDLE OPTIONS PORT FITTINGS
S - Standard (Block) DIRECTION* BLANK - None (BOTH PORTS)
R - Right TA - Steel BLANK - None
L - Left N - Neoprene Tipped LBB - 90° Swivel Fitting
(See Note 1)

NOTE:
1) 90° Swivel fittings not available on size 2 units.

ARM
ARM DOWN
CLAMP PORT SPINDLE
ARM UP
RELEASE PORT | Q@ Oll—cLawp
*NOTE: Rotation is the direction the arm rotates
when clamping and looking down at rod end.

CAD Configurator
Assistance

Use PHD’s free online application at
www.phdinc.com/cad

a = O | 5
pPNoc= o :
SOLUTIONS FOR INDUSTRIAL AUTOMATION www.phdlnc. com/pa L4 (800) 624-8511 AWHS01



ENGINEERING DATA: series pa swinG cLAMPS

SPECIFICATIONS SERIES PA
WORKING PRESSURE 40 psi min. - 100 psi max. [2.9 bar min. - 7 bar max.]
BODY Hardcoated Aluminum
PISTON ROD Chrome Plated Steel
SEALS Urethane Wiper and Rod Seal
Nitrile Pistons and Static Seals
LUBRICATION Permanent for Non-Lube Air
TEMPERATURE LIMITS -20° to 180°F [-30° to 82°C]
ROTARY
CLAMP FORCE TOTAL ROTARY CLAMP STROKE CLEARANCE
MODEL | BORE | " cpcrop cf STROKE | STROKE | STROKE |TOLERANCE | (including | CLAMP WEIGHT
SIZE
backlash)
mm | Imperial | Metric mm mm mm mm deg lb g
PAXx2 25 0.38 24.5 26.5 10 16.5 0.88 400
PAX3 32 0.69 445 30 14 16 1.45 600
PAx4 40 1.21 77.9 30 13 17 -0,+2 +3 1.94 880
PAX5 50 1.90 122.4 29.5 14.5 15 3.48 1580
PAX6 63 3.22 207.6 30 13 17 4.84 2200
CLAMP FORCE CALCULATION EQUATIONS: !
IMPERIAL: 09
Clamp Force [Ib] = (Pressure [psi] x Cf) x Tooling Length Factor \
§ 038 \X
METRIC: g 07 \ ]
Clamp Force [N] = (Pressure [bar] x Cf) x Tooling Length Factor g 06 ~_]
2 05
] PAx3 PAX5
o 04
=
S 03
S PAX2 PAx4 PAx6
0.2
0.1

0
0 0787 1574 2362 3150 3.937 4724 5512 6299 7.087 7.874
[20] [40] [60] [80] [100]  [120]  [140] [160] [180]  [200]

TOOLING LENGTH in [mm]

CLAMP MOUNTING KITS
End mounting kit includes four alloy socket head cap screws for end Side mounting kit includes two alloy socket head cap screws for
mounting. side mounting.
i i 0 { R
i Rt I il
, e 2. ! L~
KIT NUMBER
DI PAS2x PAS3x PAS4x PAS5x PAS6X
END MOUNTING KIT - 71110-02 71110-03 71110-04 71110-05 71110-06
INCLUDES 4 SCREWS | M6 x 90 mm LG SHCS | M6 x 100 mm LG SHCS | M8 x 100 mm LG SHCS | M8 x 110 mm LG SHCS | M10 x 110 mm LG SHCS
SIDE MOUNTING KIT - 71111-02 71111-03 71111-04 71111-05 71111-06
INCLUDES 2 SCREWS | M8 x 50 mm LG SHCS | M8 x 60 mm LG SHCS | M8 x 70 mm LG SHCS | M10 x 90 mm LG SHCS | M10 x 100 mm LG SHCS

6 All dimensions are reference only unless specifically toleranced. °

. (= B8
AWHSO01 WWW.phdlnc.cﬂm/pa L4 (800) 624-8511 eOLUT\ONS FOR INDUSTRIAL AUTOMATION



DIMENSIONS: series pa swinG cLAMPS

SURFACE X ARM

|| RELEASED
/ - B3
90°

- W‘ THRU & C'BORED FOR MP3 SHCS
(LEFT) |
|

MP2 MP4 THREAD x MP5 DEEP
(FROM OPPOSITE SIDE)

SA8 SA11 SHCS

1

)
D= -
7>\
&

AV

MP1
CLﬁl\RAMED **b?’*’@}*f* ORI
4—\50
o © r T
T T SWITCH SLOTS . \

. | ! ( ! T\
A =

\" RELEASED N.L.”

[ SA DETAIL A

T T saosa

L i

ﬂ #‘J L e P (CLAMP ﬂ
| S poRT) \ [1ILNA

“_i z_\ “_i 1 T T . ST T _
SA7 i ‘ “; T“X’\\.- T“
T ‘“ T e T ‘ :u |~ ox THRU FOR
SAT I *JFL’ 4o j‘!’ 7 P2 |1y \{ 3(/ VP8 SHCS B2
SA6 ﬂf‘**mj P i MP9
m ! \ il ‘
“ ‘ | ‘ "‘ﬂ MP5 MfG I )fv ili \: ]
‘ M ‘ I i J [ H H I
g’ﬁi ‘ 8534 P (RELEASE PORT)J < MP7——
B1
SA3
* NOTE: S1=TOTAL STROKE 2 = ROTARY STROKE ~ S3 = CLAMP STROKE
MODEL NUMBER
LETTER DIM PAS2x PAS3x PAS4X PAS5X PAS6X
in mm in mm in mm in mm in mm
Bi 2.165 55.0 2.362 60.0 2.756 70.0 3.346 85.0 3.937 100.0
B2 3.071 78.0 3.543 90.0 3.543 90.0 3.937 100.0 3.937 100.0
B3 1.378 35,0 1.772 45.0 2.165 55.0 2.559 65.0 3.150 80.0
B4 0.295 75 0.295 75 0.354 9.0 0.374 95 0.394 10.0
B5 0.295 75 0.492 125 0.610 155 0.846 215 1.083 275
MP1 1.575 40.0 1.772 45.0 2.047 52.0 2.598 66.0 3.150 30.0
MP2 0.787 20.0 1.181 30.0 1.457 37.0 1.511 46.0 2.362 60.0
MP3 M6 M6 M8 M8 M10
MP4 M8 x 1.25 M8 x 1.25 M10x 1.5 M10x15 M12x1.75
MP5 0.787 20.0 0.787 20.0 0.984 25.0 1.181 30.0 1.181 30.0
MP6 1.260 32.0 1.693 43.0 1575 40.0 1.772 45.0 1.417 36.0
MP7 1.575 40.0 1.772 45.0 2.047 52.0 2.598 66.0 3.150 80.0
MP8 M8 M8 M8 M10 M10
MP9 2.795 71.0 3.268 83.0 3.189 81.0 3.583 91.0 3.504 89.0
P 10-32 M5 1/8 NPT | 1/8BSPP | 1/8 NPT | 1/8BSPP | 1/8 NPT | 1/8BSPP | 1/8 NPT | 1/8 BSPP
P1 0.669 17.0 0.827 21.0 0.787 20.0 0.984 25.0 1.102 28.0
P2 2.421 61.5 2.854 725 2.854 725 3.091 785 3.150 80.0
P3 0.374 95 0.492 12,5 0.551 14.0 0.669 17.0 0.787 20.0
R1 0.551 14.0 0.630 16.0 0.630 16.0 0.787 20.0 0.787 20.0
51* 1.043 26.5 1.181 30.0 1.181 30.0 1.161 29.5 1.181 30.0
52+ 0.39%4 10.0 0.551 14.0 0512 13.0 0.571 145 0512 13.0
$3* 0.650 16.5 0.630 16.0 0.669 17.0 0.591 15.0 0.669 17.0
SA1 3.209 815 3.780 96.0 3.740 95.0 4193 106.5 4193 106.5
SA2 1.969 50.0 0.551 14.0 0.512 13.0 0.571 145 0.512 13.0
SA3 1.969 50.0 2.283 58.0 2.520 64.0 2.756 70.0 2.913 74.0
SA4 1.673 425 1.870 475 2.146 54.5 1.929 49.0 2.067 52.5
SA5 1.378 35.0 1.575 40.0 1.791 455 1.929 49.0 2.067 52.5
SA6 2.24-2.56 | 57.0-65.0 | 2.36-2.87 | 60.0-73.0 | 2.36-2.87 | 60.0-73.0 | 2.17-2.95 | 55.0-75.0 | 2.17-2.95 | 55.0-75.0
SA7 4.882 124.0 5.709 145.0 5.670 144.0 6.339 161.0 6.358 161.5
SA8 M6 x 1.0 thru M8 x 1.25 thru M8 x 1.25 thru M12 x 1.75 thru M12 x 1.75 thru
SA9 1.969 50.0 2.362 60.0 2.756 70.0 3.150 80.0 3.543 90.0
SA10 0.630 16.0 0.748 19.0 0.748 19.0 0.984 25.0 0.984 25.0
SA11 M8 M8 M8 M10 M10
X [==]O]5] All dimensions are reference only unless specifically toleranced. 7

(= B8 .
eowﬂows FOR INDUSTRIAL AUTOMATION www.phdlnc.com/pa L4 (800) 624-8511 AWHS01



OPTIONS: series pa SWING CLAMPS

m SINGLE ARM - STEEL
m SINGLE ARM - COPPER

Single arms are made of steel or copper, one alloy socket Al
head cap screw included. A M
MODEL NUMBER Az Q\ @

LETTER PAx2x PAX3x PAxdx PAX5x PAX6xX L /

DIM in mm in mm in mm in mm in mm SA8 THREAD

Al [ 2598 | 66.0 |3.150 | 80.0 | 3543 | 90.0 | 4.134 | 105.0 | 4528 | 115.0 THRU A5
A2 0630 | 16.0 |0.748 | 19.0 | 0.748 | 19.0 [ 0.984 | 25.0 | 0.984 | 25.0

A3 [0236| 6.0 [0354 | 9.0 [0354] 9.0 [0.394 | 10.0 | 0.394 | 10.0 |

A4 1969 | 50.0 | 2.362 | 60.0 | 2.756 | 70.0 | 3.150 | 80.0 | 3.543 | 90.0 .

A5 | 0787 | 20.0 [0.984 | 25.0 | 1.378 | 35.0 | 1.378 | 35.0 [ 1.772 | 45.0 10

DI [ 0551 | 14.0 0551 | 14.0 | 0.551 | 14.0 | 0.669 | 17.0 | 0.669 | 17.0

D2 [0335| 85 [0335| 85 |0335] 85 |0.413 | 105 | 0.413 | 10.5

H1 0.630 | 16.0 [ 0.748 | 19.0 | 0.748 | 19.0 | 0.984 | 25.0 | 0.984 | 25.0
H2 0236 | 60 (0354 | 9.0 | 035 | 9.0 [0472| 12.0 | 0472 | 12.0
H3 0236 | 60 [0276 | 7.0 |0276| 7.0 |0.354| 9.0 |0.354| 9.0

R1 0.551 | 14.0 [ 0.630 | 16.0 | 0.630 | 16.0 | 0.787 | 20.0 | 0.787 | 20.0 MODEL NUMBER

SA8 M6 x 1.0 M8 x 1.25 M8 x 1.25 M12 x1.75 M12 x1.75 PAx2x PAx3x PAx4x PAxX5x PAx6x
KIT NO. WEIGHT | b | kg | Ib | kg Ib | kg [ Ib | kg Ib kg
STEEL | AS-PAS2-1 AS-PAS3-1 AS-PAS4-1 AS-PAS5-1 AS-PAS6-1 STEEL | 0.20 |0.090| 0.34 | 0.153| 0.43 |0.193| 0.85 |0.387| 0.91 | 0.414
COPPER | ASC-PAS2-1 | ASC-PAS3-1 | ASC-PAS4-1 | ASC-PAS5-1 | ASC-PAS6-1 COPPER | 0.22 |0.100{ 0.37 |0.170| 0.47 |0.215]| 0.95 |0.430| 1.01 | 0.460

1

STEEL SPINDLE @ (AGROSS NUT FLATS)

. . . — TA1
Steel spindles are plated steel with two hex nuts included. i THREAD
|
MODEL NUMBER C TAG
LETTER PAX2x PAX3x & PAx4x PAX5x & PAX6X 1 T
DIM in_[ mm in_ | mm in_| mm o .
TA1 M6 x 1.0 M8 x 1.25 M12 x1.75 T
TA2 2362 | 60.0 | 2953 | 75.0 | 3937 [ 100.0 .
TA3 0.157 40 0.236 60 | 0315 8.0 I
TA4 0433 | 11.0 | 0591 150 | 0.866 | 22.0 TA3 |
TA5 0394 | 100 | 0472 [ 120 | 0748 | 19.0 .
TA6 0.197 5.0 0.217 5.5 0.394 10.0 y [T 1]
KIT NO. 71200-02 71200-03 71200-05 T
NEOPRENE TIPPED SPINDLE 4&6
(ACROSS NUT FLATS)
Neoprene tipped spindles are plated threaded steel with 65 Durometer —— }H;EAD
Neoprene molded onto the end. Two hex nuts are included. -
-
1] N7
MODEL NUMBER ]
LETTER PAX2x PAx3x & PAx4x PAx5x & PAx6x |
DIM in [ mm in [ mm in [ mm TN2 L
TN M6 x 1.0 M8 x 1.25 M12x1.75
TN2 2008 | 51.0 | 2480 | 63.0 | 3.937 | 100.0 |
TN3 0551 | 140 | 0728 | 185 | 1.339 | 34.0
TN4 0630 | 16.0 | 0748 | 19.0 | 1.260 32.0 ™3
TN5 039 | 100 | 0492 [ 125 | 0866 | 22.0
NG 039 | 100 | 0512 | 130 | 0.748 19.0
N7 | 0197 | 50 | 0256 | 65 | 0394 | 10.0 g NG -
KIT NO. 71100-02 71100-03 71100-05 > GTNG <—
8 All dimensions are reference only unless specifically toleranced. i [=l=]O]]

. (= B8
AWHSO01 Www.phdlnc.cnm/pa L4 (800) 624-8511 eOLU'HONS FOR INDUSTRIAL AUTOMATION



OPTIONS: series pa SWING CLAMPS

M2.5 MOUNTING SCREW
m REED SWITCHES PROVIDED M2.5 MOUNTING SCREW
0.276—> 1< 0.984 —>] 0.157
[7.0] [25.0] LED (4.0]
HALL EFFECT SWITCHES (PNP) ‘ v
PROVIDED It Ral]
>0 157$
HALL EFFECT SWITCHES (NPN) 85370 100 0
PROVIDED CABLE LENGTH ' ?41211* a
MAGNETORESISTIVE SWITCHES <——5.906 [150.0] CABLE LENGTH——>] V2.2 MOUNTING SCREW,
(PNP) PROVIDED WITH <1236 [314] 0.157
QUICK CONNECT LED [40)
MAGNETORESISTIVE SWITCHES { 510
(NPN) PROVIDED WITH 004 o5
QUICK CONNECT 555 giga <
M8 x 1.25 THREAD [46]
SW1 sSw2 Sw3 sw4 SW5
S 71115-01-01 71125-01-01 71125-02-01 71125-04-01 71125-03-1
ACTUATED BY Moving Magnet Moving Magnet Moving Magnet Moving Magnet Moving Magnet
POWER CAPACITY 6 Watt Max. 6 Watt Max. 6 Watt Max. 1.5 Watt 1.5 Watt
OUTPUT STATE Normally Open Normally Open Normally Open Normally Open Normally Open
OPERATING PRINCIPLE Magnetic Reed Magnetic Hall Effect Magnetic Hall Effect Magnetoresistive Magnetoresistive
OUTPUT TYPE SPST Contact Closure Solid State PNP Solid State NPN PNP Current Sourcing | NPN Current Sinking
OPERATING VOLTAGE 5-120 VAC/VDC 5-28VDC 5-28VDC 5-30VDC 5-30VDC
CURRENT RATING (RES.) 50 mA Max. 200 mA Max. 200 mA Max. 50 mA Max. 50 mA Max.
20 mA Max. @ 24 VDG | 20 mA Max. @ 24 VDC 15 mA Max. @ 12 mA Max. @
BB - (Switch Active) (Switch Active) 24 \/DC Max. 24 VDC Max.
VOLTAGE DROP 2.5V Max. 05V@200mAMax. | 0.5V@200mAMax. | 1.5V @25 mAMax. | 0.5V @ 25 mA Max.
Power Source Reverse, | Power Source Reverse, Reverse Polarity, Reverse Polarity,
SLHELIT RO 26 ot None Surge Suppression Surge Suppression Surge Suppression Surge Suppression
LED COLOR Red Green Red Green Red
OPERATING TEMPERATURE -10°to0 +70° C -10°to +70° C -10°t0 +70° C -10°to0 +70° C -10°t0 +70° C
ENVIRONMENTAL IP67 IP67 P67 IP67 IP67
CABLE TYPE PVC PVC PVC PVC PVC
71115-Xx-xx OPTION KIT NO. DESCRIPTION
SWi1 71115-01-01 | PNP (Sink) or PNP (Source), 5 - 10 VAG/VDC, 1 meter cable
DC PNP (SOURCING) DC NPN (SINKING) Sw2 71125-01-01 | PNP (Source), 5 - 28 VDG, 1 meter cable
+DC +DC SW3 71125-02-01 | NPN (Sink), 5 - 28 VDC, 1 meter cable
- BROWN 0 - BROWN 764D 0 SW4 | 71125-04-01 | PNP (Source), Magnetoresistive Switch with Quick Connect
g g SW5 71125-03-01 | NPN (Sink), Magnetoresistive Switch with Quick Connect
= Iyl =
i T S pah “ [TBLEE o 71125-xx-Xx
DC NPN (SINKING) DC PNP (SOURCING)
AC 406 +0C
BROWN LICI)\IE BROWN o BBS\%\:(\/N o
= 3 LOAD S
g 2 | BLACK [Loa) e
= LOAD — 3 2
BLUE NEUTRAL o o
BLUE -DC BLUE 0C
63549-xx CORDSET WITH FEMALE QUICK CONNECT
Provides a cordset with female quick connect and additional cable.
WIRE El(')\IL%/é WPIR?E COLOR ‘ ’ 2.000 [50.8]
LETTER DIM BLACK BROWN R * '
MODEL NO. A ;;:3;;;5::;‘.. I 4 =
63549-02 | 78.74[2m] A% v
0.689 [1 9.3]~t;—J ‘ CABLE x @ 0.177 [4.5]
- @ 0.402 PIN 3
63549-05 | 196.85 [5 m] 102] \Q’LIEE COLOR 1209 [34.8]—

@

G2

' SOLUTIONS FOR INDUSTRIAL AUTOMATION

NUMBERS IN [ ] ARE IN mm. IMPERIAL EQUIVALENTS ARE PROVIDED FOR CONVENIENCE.

All dimensions are reference only unless specifically toleranced.

www.phdinc.com/pa  (800) 624-8511

9

AWHSO01



OPTIONS: series pa swiNG cLAMPS

PORT FITTIN
TS

Port fitting is not available on size 2.

+ ©
LETTER DI |-FORT FITTING OPTION L kpr2 a5 mm] TUBING
in mm FITTINGS MAY SWIVEL
PFI(MIN) | 0,629 120 360° FROM LOCATION SHOWN D
PFT(MAX) | 0748 | 16.0 fex =T
PF2 0885 | 200 T
PF3 0472 12.0 CLAMP PORT —1[O O
RELEASE PORT—1 it
APPLICATION CONCERNS

N
—

Do not attach heavy arms or Eliminate impact to the arm
weights to the clamp without as it may damage the internal
reducing rotation speed. components.
Hold the arm (not the clamp body)
Do not stop clamp arm during vn\grézr:]{?r?;esrélrr;%v(.)rtlghtenlng the arm
its rotary stroke (dim. S2). The
O arm may only be stopped during
Do not machine the arm its clamp stroke (dim. S3).

while it is still attached to the
clamp. The forces generated
may damage the internal

)

/

components.
10 All dimensions are reference only unless specifically toleranced. hd [m{O] 8]
5[]
AWHSO01 WWW.phdinc.cﬂm/pa L (800) 624-8511 EOLUT\ONSFOR INDUSTRIAL AUTOMATION



SWING CLAMPS

Major Benefits

« Simple design, compact size, for low weight, long life, and high
clamp force make these clamps ideal for part holding or transfer

¢ Mounting patterns on three surfaces
* Available in left and right rotations

rod weld cover available to protect
cylinder rod and bearing areas from
weld splatter during clamping.

anti-backlash arm and guide available
to minimize amount of arm backlash
during clamping

arms are available as
finished or blank, can be
tooled by customer

keyed interface between rod
and arm ensures location
and easy installation

mounting pattern
on two surfaces

controlled orifice
communication - flow
controls are not required

two switch grooves
on all sides to ease
cable routing

switches mount
flush providing clean
protection profile

y hardened helical spline

1 and three hardened drive
balls ensure long product
switch ready life with little wear

hdz="2 "
B ED .
EOLUWNS FOR INDUSTRIAL AUTOMATION Www.phdll'lc.con'I/ ph L4 (800) 624-8511 AWHS01




ORDERING DATA: series pB swiNG cLAMPS

TO ORDER SPECIFY:

Model, Stroke Length, Unit Size, Arm Rotation Direction, Options may affect unit length. See dimensional
Design No., and Additional Options if desired. pages and option information details.
MISCELLANEOUS OPTIONS
UNIT SIZE BLANK - None

2 - 25 mm Bore CLAMP TIP OPTIONS SW41 -1 NPN switch provided ANTI-BACKLASH OPTIONS

3 - 32 mm Bore DESIGN NO. | | BLANK - None SW42 -2 NPN switches provided | | BLANK - None

4 - 40 mm Bore 1 - Imperial TA - Std. Adjustable | | SW51 -1 PNP switch provided AB1 - Anti-backlash arm

MODEL | | 5-50 mm Bore 5 - Metric (See note 1) SW52 - 2 PNP switches provided (See note 1)

- =
PB -11/-/ASA - /TA|- SW51|- LAA - AB1 - WC1 - MB1

STROKE LENGTH ARM ROTATION CLAMP ARM OPTIONS PORT FITTINGS WELD COVER OPTIONS MOUNTING OPTIONS
L - Long stroke DIRECTION BLANK - None (BOTH PORTS) BLANK - None BLANK - None
S - Short stroke R - Right ASA - Single Aluminum BLANK - None WC1 -Rod weld cover | | MAT -5/16-18 Threaded Mtg Holes
(See chart for length) L - Left ASB - Single Aluminum Blank | | | aa - 90° Swivel Fitting, Metal (See note 1) in Position 5
MP1 - 5/16-18 Threaded Mtg Holes
NOTE: in Position 6
RIGHT LEFT 1) Must have arm option ordered with these options. MB1 - 5/16-18 Threaded Mtg Holes
STROKE AVAILABILITY (mm) To order separately, use kit numbers on page 15. in Position 5 & 6
CLAMP| TOTAL | CLAMP | ROTARY MAS5 - M8 Threaded Mtg Holes
SERIES| STROKE | STROKE | STROKE in Position 5
PBS2x | 19.5 10 95 MP5 - _I\IIBPTh;gadeéd Mtg Holes
ARM DOWN In Position
e AT " clawP PORT MBS - M8 Threaded Mtg Holes
PBL3x | 35 20 15 Q‘ in Position 5 & 6
PBS4x | 25 10 15 | —ARMUP
PBLAxX 35 20 15 RELEASE PORT
PBSSx | 39 20 19 o
PBL5x | 69 50 19
NOTE: Rotation is the direction the arm rotates NOTE: Metric units have metric ports.
when clamping and looking down at rod end. Imperial units have imperial ports.
[ J
ENGINEERING DATA: series B swinG cLAMPS
SPECIFICATIONS SERIES PB
PISTON SEALS Long life Nitrile CAD Configurator
ROD SEALS Urethane lip type Assistance
OPERATING TEMPERATURE -20° to +180°F [-30° to +82°C] Use PHD's free online application at
LUBRICATION Factory lubricated for life www.phdinc.com/cad
MINIMUM CYCLE PRESSURE 30 psi [2 bar]
ROTARY
CLAMP FORCE TOTAL | ROTARY | CLAMP STROKE | CLEARANCE
MODEL |  BORE FACTOR Ci STROKE | STROKE | STROKE | TOLERANCE | (including | C-AMP WEIGHT
SIZE
backlash)
mm Imperial | Metric mm mm mm mm deg 1h g
PBS2 25 0.59 38.1 19.5 9.5 10 0.72 326
PBL2 25 0.59 38.1 29.5 9.5 20 0.82 374
PBS3 32 0.93 60.0 25 15 10 1.18 537
PBL3 32 0.93 60.0 35 15 20 149 .3 1.34 608
PBS4 40 1.64 105.8 25 15 10 ’ - 1.50 680
PBL4 40 1.64 105.8 35 15 20 1.68 764
PBS5 50 2.56 165.2 39 19 20 2.55 1160
PBL5 50 2.56 165.2 69 19 50 3.10 1410
0; ——
! e —
CLAMP FORCE CALCULATION EQUATIONS: 5" e S
IMPERIAL: g | [
Clamp Force [Ib] = (Pressure [psi] x Cf) x Tooling Length Factor g s
= PBx2 PBx3 PBx5
o 04
METRIC: s

o
o

Clamp Force [N] = (Pressure [bar] x Cf) x Tooling Length Factor

o

0
0 0.787 1574 2.362 3150 3937 4724 5512 6.299  7.087
[20] [40] [60] [80] [100] [120] [140] [160]  [180]

TOOLING LENGTH in [mm]

'1 2 ®
. PNOC:= ©
AWHS01 WWW.phdlnc.Gﬂm/pb L4 (800) 624-8511 SOLUTIONS FOR INDUSTRIAL AUTOMATION



DIMENSIONS: series pe swing cLAMPS

ARM
/ﬂ RELEASED
‘ — B

90° ;
(L !

4X MT1 THD EFT) 7 M1
MT2 DP b B2
(SEE MOUNTING w <@ R1->]
OPTIONS) R25Q
~ v T JF—=~_ (WRENCH FLATS)
ARM 76—%{@ B3 M1 B Ll 7 N\

N~—1

CLAMPED

%
&Y

Q ] T K :
e |
7 | 1 4X @ M2 THRU s ;
90° o & CBORE 0 13 N_.~
RIGHT L
( ) (4 THIS END - DETAIL A
\4 ARM 4 ON OPP END)
RELEASED
UNIT IS SHOWN WITH ARM OPTION -ASA
“NOTE: {5),
S1=TOTAL STROKE L
S2 = ROTARY STROKE e -
$3 = LINEAR STROKE || 82 | d.
1 f s3*
i =2
S
B6
L[]
i 1-es
i i RS P2 ‘ I (cLame porr)
MOUNTING OPTIONS D D v ord
MA1[MP1| MB1 |MA5|MP5| MB5 v v B hd
& ¥ ¥
errer | @ | © (08B & | ® [Ba® 3 5 Al es
DIM in | mm in | mm i i i (RELEASE PORT)
MT1 5/16-18 M8 x 1.25 &
MT2 | 1026 | 261 | 1.026 | 261 | L F1 hd
NOTE: NUMBERS ENCLOSED IN HEX INDICATE POSITION @ T
LETTER MODEL NUMBER
DIM PBS2x PBL2x PBS3x PBL3x PBS4x PBL4x PBS5x PBL5x
in mm in mm in mm in mm in mm in mm in mm in mm
B1 1.575 40.0 1.575 40.0 1.772 45.0 1.772 45.0 2.047 52.0 2.047 52.0 2.520 64.0 2.520 64.0
B2 0.197 5.0 0197 5.0 0177 45 0177 45 0.197 5.0 0.197 5.0 0.276 7.0 0.276 7.0
B3 0.378 9.6 0.378 9.6 0.650 16.5 0.650 16.5 0.709 18.0 0.709 18.0 0.787 20.0 0.787 20.0
B4 2.874 730 | 3268 | 830 | 3.15 | 800 | 3543 | 90.0 | 315 | 80.0 | 3543 | 900 | 3996 | 101.5 | 5177 | 1315

B5 MAX 0.9055 23.000 0.9055 23.000 | 1.1811 | 30.000 | 1.1811 | 30.000 | 1.1811 | 30.000 | 1.1811 | 30.000 | 1.4567 | 37.000 | 1.4567 | 37.000
B5 MIN 0.9024 22.920 0.9024 22.920 | 1.1780 | 29.920 | 1.1780 | 29.920 | 1.1780 | 29.920 | 1.1780 | 29.920 | 1.4535 | 36.920 | 1.4535 | 36.920

B6 0.118 3.0 0.118 3.0 0.118 3.0 0.118 3.0 0.118 3.0 0.118 3.0 0.138 35 0.138 35
M1 1.102 28.0 1.102 28.0 1.339 34.0 1.339 34.0 1.575 40.0 1.575 40.0 1.968 50.0 1.968 50.0
M2 0.217 55 0.217 55 0.217 5.5 0.217 5.5 0.217 55 0.217 55 0.260 6.6 0.260 6.6
M3 0.354 9.0 0.354 9.0 0.354 9.0 0.354 9.0 0.354 9.0 0.354 9.0 0.433 11.0 0.433 11.0
M4 0.275 7.0 0.275 7.0 0.354 9.0 0.354 9.0 0.472 12.0 0.472 12.0 0.512 13.0 0.512 13.0
P1 0.736 18.7 0.736 18.7 0.787 20.0 0.787 20.0 0.787 20.0 0.787 20.0 1.004 255 1.004 255
P2 1.063 27.0 1.063 27.0 1.358 34.5 1.358 345 1.358 34.5 1.358 345 1.535 39.0 1.535 39.0
P3 10-32 UNF M5 10-32 UNF M5 1/8 NPT |1/8 BSPP | 1/8 NPT |1/8 BSPP | 1/8 NPT |1/8 BSPP | 1/8 NPT |1/8 BSPP | 1/4 NPT |1/4 BSPP | 1/4 NPT |1/4 BSPP
R1 0.472 12.0 0.472 12.0 0.630 16.0 0.630 16.0 0.629 16.0 0.630 16.0 0.787 20.0 0.787 20.0

R2 MAX | 0.3898 9.9 0.3898 9.9 0.5472 13.9 0.5472 13.9 0.548 13.9 0.5472 13.9 0.6654 16.9 0.6654 16.9
R2 MIN 0.3846 9.77 0.3846 9.77 0.5421 13.77 | 0.5421 13.77 | 0.5421 13.77 | 0.5421 13.77 | 0.6602 | 16.77 | 0.6602 | 16.77

R3 0.118 3.0 0.118 3.0 0.217 55 0.217 55 0.217 55 0.217 55 0.217 55 0.217 55

R4 0.157 40 0157 40 0256 | 65 | 0256 | 65 | 025 | 65 | 0256 | 65 | 0.295 75 | 0.295 75

R5 3.681 93.5 4.469 113.5 4.469 113.5 5.256 133.5 4.508 114.5 5.295 134.5 5.984 152.0 8.346 212.0

R6 M8 x 1.25 M8 x 1.25 M10x1.5 M10x 1.5 M10x 1.5 M10x1.5 M12 x1.75 M12 x1.75

R7 0.590 15.0 0.590 150 | 0590 | 150 | 0590 | 150 | 0590 [ 150 | 0590 | 150 | 0590 | 150 | 0590 | 150
S1* MIN 0.768 19.5 1.161 295 0.984 25.0 1.378 35.0 0.984 25.0 1.378 35.0 1.535 39.0 2.716 69.0

s2* 0.374 95 0.374 95 0591 | 150 | 0591 | 150 | 0591 | 150 | 0591 | 150 | 0748 | 190 | 0748 | 19.0

53 0.394 10.0 0.787 200 | 0394 | 100 | 0787 | 200 | 0394 | 100 | 0787 | 200 | 0787 | 200 | 1968 | 500

i [==]O] %] All dimensions are reference only unless specifically toleranced. 13

(= B8 .
eowﬂows FOR INDUSTRIAL AUTOMATION www.phdlnc.com/ph L4 (800) 624-8511 AWHS01



OPTIONS: series pB SWING CLAMPS

ANTI-BACKLASH ARM

Anti-backlash arm and guide are made from hardened steel and can
be used to minimize the amount of arm backlash when clamping.
Maximum clearance between arm and guide is 0.028 in [0.71 mm]
resulting in a maximum total radial play of 0.8° max.

GUIDE IS ADJUSTABLE
WITHIN 90° AND MAY BE
LOCATED ON ANY MOUNTING
HOLE FOR A TOTAL
ADJUSTMENT OF 360°

NOTE:
1) KIT INGLUDES: ANTI-BACKLASH ARM, GUIDE,

ALL FASTENERS, AND ONE LONG MOUNTING o

BOLT RETAINED WITH A NUT(DISCARD NUT)

> AT
> < AT0 A8
Ag—> <! A6
A2 SHCS
i WITH A13 HEX oD

RETRACTED

Ad
| (END OF—L
CLAMP

STROKE)
I8 A4jr
e | G
NOTE: ARM IS OS'IQROKE)
‘ EFFECTIVE
| DURING THE
LAST A5 OF
é CLAMP STROKE A15
i v
A17 THREAD
—
MODEL NUMBER
LETTER PBS2x PBL2x PBS3x PBL3x PBS4x PBLAX PBS5x PBL5X
DIM in mm in mm in mm in mm in mm in mm in mm in mm
Al 1119 | 284 [ 1.119 [ 284 | 1.304 | 331 | 1.304 | 331 | 1491 [ 379 [ 1491 | 379 [ 1.790 | 455 | 1.790 | 455
A2 0.790 | 201 | 0790 | 201 | 0.904 | 23.0 | 0.904 | 23.0 | 1.125 | 286 | 1.125 | 28.6 | 1.185 | 30.1 | 1.185 | 30.1
A3 1.600 | 40.6 | 1.600 | 40.6 | 1.800 | 45.7 | 1.800 | 45.7 | 1.950 | 495 | 1.950 | 495 | 2.300 | 58.4 | 2.300 | 58.4

A4 (BEGIN.) | 0.098 | 2.5 | 0177 | 45 | 0.098 25 | 0177 | 45 0098 | 25 | 0177 | 45 0177 | 45 | 0177 | 45
A4 (END) | 0295 | 7.5 | 0.610 | 155 | 0.295 75 | 0610 | 155 | 0295 | 75 | 0611 | 155 | 0.610 | 155 | 1.792 | 455

A5 0177 | 45 | 0490 | 125 | 0.177 45 | 0492 | 125 | 0177 | 45 | 0390 | 9.9 0390 | 99 ]039 | 99
A6 0.202 | 541 0202 | 51 0.233 59 | 0233 | 59 | 0358 | 91 0358 | 9.1 0439 | 11.2 | 0439 | 11.2
A7 033 | 85 | 0335 | 85 | 0453 | 115 | 0453 | 11.5 | 0.492 | 125 | 0.492 | 125 | 0531 | 135 | 0.531 | 135
A8 0.669 | 17.0 | 0.669 | 17.0 | 0.906 | 23.0 | 0.906 | 23.0 | 0.984 | 25.0 | 0.984 | 250 | 1.062 | 27.0 | 1.062 | 27.0
A9 0315 | 8.0 | 0315 | 80 | 0394 | 10.0 | 0.394 | 10.0 | 0.433 | 11.0 | 0.433 | 11.0 | 0.492 | 125 | 0.492 | 125

A10 0.250 6.4 0.250 6.4 0.250 64 | 0250 | 6.4 0.375 9.5 0.375 9.5 0375 | 95 0.375 9.5

Al1 0.197 5.0 0.197 5.0 0.197 50 | 0197 | 5.0 0.236 6.0 0.236 6.0 0.236 | 6.0 0.236 6.0

A12 M5 x 0.8 M5x0.8 M5 x 0.8 M5x0.8 M6 x 1.0 M6 x 1.0 M6 x1.0 M6 x 1.0
x 16 mm LG x 16 mm LG x 16 mm LG x 16 mm LG x20 mm LG x20 mm LG x20 mm LG x 20 mm LG
A13 0.157 4.0 0.157 4.0 0.157 40 | 0157 | 4.0 0.197 5.0 0.197 5.0 0197 | 5.0 0.197 5.0
A4 0.158 4.0 0.158 4.0 0.158 40 | 0158 | 4.0 0.158 | 4.0 0.158 | 4.0 0.197 | 5.0 0.197 5.0
A15 0476 | 121 | 0476 | 121 | 0.558 | 14.2 | 0.558 | 14.2 | 0.516 | 13.1 | 0.516 | 13.1 0.417 | 10.6 | 0.417 | 10.6
A16 0.150 3.8 0.150 3.8 0.150 38 | 0150 | 3.8 0194 | 49 0194 | 49 0194 | 49 0.194 49

A7 M5x 0.8 M5X08. M5x 0.8 M5x 0.8 M5x 08 M5x 038 M6 X 1.0 M6 x 1.0
KIT NO. 73356-04 73356-05 73356-06 73356-07 73356-08 73356-01 73356-02 73356-03
14 All dimensions are reference only unless specifically toleranced. i [=l=]O]]

. (= B8
AWHSO01 Www.phdlnc.com/pb L (800) 624-8511 EOLU'HONS FOR INDUSTRIAL AUTOMATION



OPTIONS: series pB SWING CLAMPS

m SINGLE ALUMINUM ARM

Single arms are made of aluminum.

MODEL NUMBER
LEDTJV'IE“ PBx2x PBx3x PBx4x PBx5x 253 2sa AS1
in mm in mm in mm in mm
AS1 | 2500 | 635 | 3.150 | 80.0 | 3.220 | 82.0 | 4.134 | 105.0 @ ASS THRU
AS2 | 0630 | 160 | 0.787 | 200 | 0.866 | 22.0 | 0.984 | 25.0 D D T
AS3 | 0276 | 7.0 | 0394 | 100 | 0.394 | 10.0 | 0394 | 10.0 T D } G AS2
AS4 | 1378 | 350 | 1.772 | 450 | 1.772 | 450 | 2.559 | 65.0 || || |
AS5 | 0550 | 140 [ 0710 | 180 [ 0.866 | 220 | 0.984 | 25.0 PPN
AS6 0.630 16.0 0.813 20.7 0.815 20.7 0.915 23.2 AS17 THREAD THRU AS7 2X & AS8 THRU
AS7 | 1260 | 320 | 1625 | 413 | 1630 | 414 | 1.830 | 465
AS8 | 0189 | 48 [ 0224 [ 57 [0250 | 64 | 0250 | 64 9% AS15 THREAD AStd
AS9 | 0328 [ 83 [ 0413 | 105 [ 0413 | 105 | 0492 | 125 AS16D
AS10 | 0196 | 50 | 0274 | 70 | 0275 | 70 | 0334 | 85 (FROM OPP SIDE) rﬁ ASI8—  [ASTS
AST1 | 0391 | 99 | 0549 | 139 | 0550 | 140 | 0.668 | 17.0 1 }% BEPNE !
AS12 | 0098 [ 25 [0177 | 45 [0477 | 45 [ 0477 | 45 A ‘ ST ass
As13 | 0335 | 85 | 0453 | 115 | 0492 | 125 | 0531 | 135 R b l
AS14 | 0669 | 17.0 [ 0906 | 230 [ 0984 | 250 | 1.062 | 27.0 L L
AS15 M5 x 0.8 M5 x 0.8 M6 x 1.0 M6 x 1.0 Aswﬂ AS12
AS16 | 0433 | 11.0 | 0433 [ 11.0 | 0433 [ 11.0 | 0433 [ 11.0 AS11 +0.002 [£0.05]
AS17 M6 x1.0 M8 x 1.25 M8 x 1.25 M10x 1.5
AS18 | 0202 [ 51 [0233 ] 59 [ 0358 ] 91 [ 0439 111
KITNO.|  73352-003 73352-004 73352-001 73352-002
NOTES:
1) ALL NUMBERS IN [ ] ARE METRIC AND ARE IN mm
2) KIT INCLUDES ARM, SCREW, AND LOCK WASHER
m SINGLE ALUMINUM BLANK ARM
Single blank arms are made of aluminum and allow for creation of
an arm up to twice as long as the standard aluminum arm.
MODEL NUMBER
LE[',I'ITMER PBx2x PBx3x PBx4x PBx5x AB1
in mm in mm in mm in mm AB4
AB1 | 3642 | 925 | 4921 | 1250 | 5.000 | 127.0 | 6.693 | 1700 @ AB9 THRU
AB2 | 0630 | 160 | 0.787 | 200 [ 0.866 | 22.0 | 0.984 | 25.0 i I T
AB4 | 2796 | 71.0 [ 3.937 | 100.0 | 3.937 | 100.0 | 5512 | 140.0 Y } M@ AB2
AB5 | 0550 | 140 | 0.710 | 18.0 | 0.866 | 22.0 | 0.984 | 25.0 | } | } |
AB6 | 0630 | 160 | 0813 | 207 [ 0.815 | 207 | 0915 | 232 ‘ ‘
AB7 | 1.260 | 32.0 | 1.625 | 413 | 1630 | 414 | 1.830 | 465 9X AB8 @ THRU oy AB6—
AB8 | 0189 | 48 | 0224 | 57 | 0250 | 64 | 0250 | 64
AB9 0.328 8.3 0.413 105 0.413 105 0.492 12.5 92X AB15 THREAD AB 14—
AB10 | 0196 | 50 [ 0274 | 70 [ 0275 | 7.0 | 0334 | 85 (FROM 0@32?005 rﬂ ABi3k_  [AB1S
AB11 | 0391 | 99 [ 0549 | 139 [ 0550 | 140 | 0.668 | 17.0 _—
AB12 | 0098 | 25 | 0177 | 45 | 0177 | 45 | 0177 | 45 ! % BRFYm
AB13 | 0335 | 85 | 0453 | 115 | 0492 | 125 | 0531 | 135 | " ] J ! } AB5
AB14 | 0669 | 17.0 [ 0906 | 23.0 [ 0984 | 250 | 1.062 | 27.0 R |
AB15 M5 x 0.8 M5 x 0.8 M6 x 1.0 M6 x1.0 l
AB16 | 0433 | 11.0 | 0433 | 11.0 | 0433 | 11.0 | 0433 | 11.0 AB10—> <= AB12
AB18 | 0202 | 51 | 0233 | 59 | 0358 | 91 | 0439 | 11.1 ABT1 £0.002 [0.05]
KITNO.|  73354-003 73354-004 73354-001 73354-002
NOTES:
1) ALL NUMBERS IN [ ] ARE METRIC AND ARE IN mm
2) KIT INCLUDES ARM, MOUNTING SCREW, AND LOCK WASHER
i [==l0[5] All dimensions are reference only unless specifically toleranced. 15

(= B8 .
eowmws FOR INDUSTRIAL AUTOMATION www.phdlnc.com/ph L4 (800) 624-8511 AWHS01



OPTIONS: series pB SWING CLAMPS

STEEL SPINDLE
TA5
(ACROSS NUT FLATS)
Steel spindles are plated steel with two hex nuts included.
7 TA1
| THREAD
| |
MODEL NUMBER —Tiﬁs
LETTER PBx2x PBx3x PBx4x PBx5x T T
DIM in_ | mm in [ mm in | mm in [ mm -
TA1 M6 x 1.0 M8 x 1.25 M8 x 1.25 M10x 1.5 TA2 |
TA2 | 2362 | 60.0 | 2953 | 75.0 | 2.953 | 75.0 | 3.937 | 100.0 |
TA3 | 0157 | 40 | 0209 | 53 | 0209 | 53 | 0252 | 64 1
TA4 | 0394 [ 10.0 | 0512 | 13.0 | 0512 | 13.0 | 0748 | 19.0 s [
TA5 | 0394 | 100 | 0472 | 12.0 | 0472 | 12.0 | 0.669 | 17.0 -
TA6 | 0197 | 50 | 0217 | 55 [0217 | 55 | 0315 | 80 —
KIT NO. 71200-02 71200-03 71200-03 71200-06 A f
PORT FITTINGS
90° swivel fitting for case of air line hook up.
MODEL NUMBER
SELF SEALING SWIVEL
LETTER PBx3x & PBx4x PBx5x MALE ELBOW FOR
DIM in mm in mm PF4 TUBING
PF1 (MIN) 0.629 12.0 0.767 20.5 FITTINGS MAY SWIVEL 360° _—~ .
PF2 0.885 20.0 1.102 28.0 FROM LOCATION SHOWN Jj]
PF3 0.472 12.0 0.551 14.0 CLAMP PORT
PF4 1/4 6.0 3/ 100 PF3 L
PART NO. | 62178-003 | 62195-005 | 62178-010 | 62195-010 HEX o
NOTES: T —
1) FITTINGS ARE ORDERED SEPARATELY P RELEASE PORT
2) FITTINGS NOT AVAILABLE FOR PBx2x -

16

AWHS01

All dimensions are reference only unless specifically toleranced.

www.phdinc.com/ph  (800) 624-8511

phdzE

OLUTIONS FOR INDUSTRIAL AUTOMATION



OPTIONS: series pB SWING CLAMPS

LOAD CAPACITIES WITH AND WITHOUT SPEED REDUCER FITTINGS

When Series PB Clamps are used with standard ASA or ASB Arms, AB1 Jm = Rotational Mass Moment of Inertia (in-lb-sec?)
Anti-backlash, WC1 Weld Covers and TA Spindles, speed controls are g = Gravitational Constant (386.4 in/sec)

NOT required. weight = Ib

If longer arms or heavier loads are attached, clamps need to be R = distance from CL of rod to CL of weight (inches)

protected from the higher Rotational Moment of Inertia (Jm) by slowing
down their speed. PHD recommends nonadjustable speed reducing
fittings for these applications. They contain orifices sized to reduce

Arm Calculation for Jm
Weight B « 4 (B)? +w? N Weight F « 4 (F)2 + w?

speed and allow higher moments of inertia. Jm = g 12 g 12
The graphs on the next page show maximum loads allowed based on Attached load Jm Calculation
the distance from the piston rod centerline to the load centerline. Graphs .
in the left column show maximum attached load with ASB Arm. Graphs Jme _Weight o,
in the right column show maximum attached load with ASB Arm, Anti- g
backlash (ABT), and Weld Cover (WC1) options. EXAMPLE: PBL5L-1- WC1 with special arm and attached load
These graphs assume the following: Arm material is aluminum, density is 0.1 Ib per cubic inch
- The clamp is mounted vertically. \Iflvi!s.s11 .(?ilnncchh
- Loads are attached to ASB Arms or identical customer-supplied Fis 4_'0 inch
aluminum arms. Bis 1.0inch
- The arms are only 0.5 inch longer than the distance to the Ris 3.0inch
centerline of the load. Attached load is 0.3 Ib
For customer supplied arms and attached loads, use the equations ArmJm  Weightof Fis4x1x1x01=041b
on this page to calculate the Rotational Moment of Inertial (Jm). Weight of Bis1x1x1x0.1=0.11b
Stay below the maximum allowable (Jm) and apply speed reducing ArmdJm= 01, 42+ 04 | 4(47+12
fittings as required. 386.4 12 386.4 12

Arm Jm = 0.005687 in-lbh-sec?
Attached Load Jm Attached load is0.31b R=3.0

0.3 )
3864 x 3.0

Load Jm = 0.0007763 x 9.0
Load Jm = 0.006987 in-Ib-sec?

Weld Cover Jm from Chart A = 0.00127 in-Ib-sec?

TOTAL Jm 0.005687 + 0.006987 + 0.00127 = 0.013944 in-lb-sec?

From Chart A, Allowable Jm is 0.030 in-Ib-sec?, SR40 fitting is not
required. If the Jm had been larger than 0.030 in-lb-sec?, then SR40
fitting would be required.

Load Jm =

CHART A - MAXIMUM ALLOWABLE MOMENT OF INERTIA

MAX. ALLOWABLE Jm ROTATIONAL MOMENT OF INERTIA in-lb-sec?
MODEL in-1b-sec? Short Arm | Blank Arm | Anti-backlash | Weld Cover
STD PORTS | SR FITTINGS ASA ASB AB1 WC1
PBS2 0.002 — 0.00012 0.00067 0.00023 0.00005
PBL2 0.002 — 0.00012 0.00067 0.00035 0.00009
PBS3 0.009 — 0.00039 0.00295 0.00045 0.00025
PBL3 0.009 — 0.00039 0.00295 0.00059 0.00038
PBS4 0.009 0.02 0.00052 0.00398 0.00118 0.00032
PBL4 0.009 0.02 0.00052 0.00398 0.00147 0.00043
PBS5 0.03 0.06 0.00143 0.01395 0.00237 0.00067
PBL5 0.03 0.06 0.00143 0.01395 0.00383 0.00126
i [=l=O] ] 17

(= B8 .
eowﬂows FOR INDUSTRIAL AUTOMATION www.phdlnc.com/ph L4 (800) 624-8511 AWHS01



OPTIONS: series pB SWING CLAMPS

PBx2x-x-ASB PBx2x-x-ASB-AB1-WC1
1,50 1.25
[0.68] [0.57)
1.25
1.00
3 [0.57] \ T (04
= 1.00 =
2 \ : O
3 0.75 S ¥ \
a 34 =]
2 0 \ 2 050 N
E oy g \
|- . =
=< =<
- \ [001215]7 ~_
0.11 — .
[0i1] — I —
0.00, 0.00
050 075 1.00 1.25 1.50 1.75 2.00 2.25 2.50 050 075 1.00 1.25 1.50 1.75 2.00 2.25 2.50
[13] [19] [25] 132) 138) [44] [51] [57] [64] [13] [19] [25] 132) 138) [44] [51] 1571 [64]
DISTANCE FROM CL ROD TO CL OF LOAD in [mm] DISTANCE FROM CL ROD TO CL OF LOAD in [mm]
PBx3x-x-ASB PBx3x-x-ASB-AB1-WC1
1.50 1.25
[0.68] [0.57]
1.25
_ [0.57] 1.00
g 5 [045]
= e = AN
2 p#l \ s o7 <
= = [034]
2 03 a \
g l 3 [00'253%
= 0.50 < -
=
= [0.23] \\ E \
0.25 0.25
[0.11] — [0.11] —
0.00
150 175 200 225 250 275 300 325 350 3.75 150 175 200 225 250 275 300 325 350 375
[38] [44] (51 [57] 64 [70] [76] [83] (89  [95] 138] [44] [B1] [57) [64 [70] [76] [83]  [89]  [95]
DISTANCE FROM CL ROD TO CL OF LOAD in [mm] DISTANCE FROM CL ROD TO CL OF LOAD in [mm]
PBx4x-x-ASB PBx4x-x-ASB-AB1-W(C1
3.00[1.36] 2.75[1.25]
2.75[1.25] 2.50[1.13]
2.50 [1.13] 2.25[1.02]
7 2% [1.02] 2 2.00[0.91]
= 200[091] =2 175[0.79)
2 1.75[0.79] 2
S S 1.50(0.68
S 150(068] S 1500068 _ —
E 1.25[0.57] with SR22 fitting E 1.25[0.57] \W[Ilh SR22 fitting
2 1.00 [0.45] £ 1.00{045] =~
Z o075 [0.34] without SR22 fitting = 0.75[0.34] - —
: ) without SR22 fitting [
0.50 [0.23] 0.50 [0.23]
— 0.25 [0.11] —
0.25[0.11] — 25 0. —
150 175 200 225 250 275 300 325 350 375 150 175 200 225 250 275 300 325 350 375
[38] [44] [31] [57) (64 [0 [76] [83] [89]  [95] [38] [44] [31] [B7) (64 [0 [76] [83] [89]  [95]
DISTANCE FROM CL ROD TO CL OF LOAD in [mm] DISTANCE FROM CL ROD TO CL OF LOAD in [mm]
PBx5x-x-ASB PBx5x-x-ASB-AB1-WC1
3.75[1.70] 3.50 [1.59]
3.50 [1.59] AN 3.25[1.47]
3.25[1.47] 3.00 [1.36]
3.00[1.36] 2.75[1.25]
= 2.75[1.25] B 250 [1.13]
= . £ -19]
oo oo
2 oot 2 2.00[0.91]
=< N . - < 1
S 332 {83;{ with SRAO fitting 2 175[0.79] with SR40 fitting
a 1. .79] a
Z 150[0.68] £ 150[068
= 1.25[057] = 125[057]
E o without SR40 fitting E 1,00 [0.45]
< 1.00[0.45] — - tan without SR40 fitting
0.75[0.34] — 0.75[0.34]
0.50 [0.23] L 0.50[0.23] —
0.25[0.11] — 0.25[0.11] —
0.00
225 250 275 300 325 350 375 400 425 450 475 500 225 250 275 300 325 350 375 400 425 450 475 500
[57] 164] [70] 1[76] [83] [89] [95] [102] [108] [114] [121] [127) [57] 164] T[70] [76] [83] ([89] [95] [102] [108] [114] [121] [127)
DISTANCE FROM CL ROD TO CL OF LOAD in [mm] DISTANCE FROM CL ROD TO CL OF LOAD in [mm]
18 :

. (= B8
AWHSO01 WWW.phdlnc.cﬂm/pb L4 (800) 624-8511 EOLU'HONS FOR INDUSTRIAL AUTOMATION



OPTIONS: series pB SWING CLAMPS

m ROD WELD COVER

Weld cover is made of plated aluminum and protects

the clamp rod from weld splatter during the clamp
stroke. Order with -ASA or -ASB option.

e W1—>
W2 £0.005 [10.13]—4@&
(SLOT WIDTH) I_m_l
\
o
W4
@ (END (BEGINNING
NOTES: OF CLAMP OF CLAMP
1) ALL NUMBERS IN [ ] ARE METRIC \ STROKE) STROKE)
AND ARE IN mm !
2) KIT INCLUDES: WELD COVER AND é
COVER MOUNTING SCREWS
MODEL NUMBER
LETTER PBS2x PBL2x PBS3x PBL3x PBS4x PBL4x PBS5x PBL5x
DIM in mm in mm in mm in mm in mm in mm in mm in mm
WA 1.500 381 1.500 38.1 2.000 50.8 2.000 50.8 2.000 50.8 2.000 50.8 2.250 57.2 2.250 57.2
W2 0.646 16.4 0.646 16.4 0.803 20.4 0.803 20.4 0.882 22.4 0.882 22.4 1.000 25.4 1.000 25.4
W3 0.080 2.0 0.080 2.0 0.120 3.0 0.120 3.0 0.120 3.0 0.150 3.8 0.200 5.1 0.200 5.1
W4 (BEGIN.)| 0.610 15.5 1.004 25.5 1.003 255 1.398 35.5 0.945 24.0 1.412 35.9 1.597 40.6 2.780 70.6
W4 (END) 0.217 55 0.217 55 0.610 15.5 0.610 15.5 0.551 14.0 0.625 15.9 0.811 20.6 0.811 20.6
W5 0.650 16.5 1.043 26.5 1.063 27.0 1.457 37.0 1.102 28.0 1.496 38.0 1.693 43.0 2.874 73.0
W6 0.630 16.0 0.630 16.0 0.812 20.6 0.812 20.6 0.815 20.7 0.815 20.7 0.915 23.2 0.915 23.2
w7 1.260 32.0 1.260 32.0 1.625 41.3 1.625 41.3 1.630 41.4 1.630 41.4 1.830 46.5 1.830 46.5
W8 M4 x0.7x20 mm LG | M4 x 0.7 x25 mm LG [ M5 x 0.8 x30mm LG | M5x0.8x30 mm LG | M6x1.0x35 mm LG | M6 x1.0x35mm LG| M6 x 1.0 x 35 mm LG | M6 x 1.0 x 35 mm LG
w9 0.118 3.0 0.118 3.0 0.157 4.0 0.157 4.0 0.197 5.0 0.197 5.0 0.197 5.0 0.197 5.0
W10 0.550 14.0 0.550 14.0 0.710 18.0 0.710 18.0 0.866 22.0 0.866 22.0 0.984 25.0 0.984 25.0
W11 0.492 12.5 0.886 225 0.532 13.5 0.925 23.5 0.632 16.1 0.950 241 1.000 25.4 2.180 55.4
KIT NO 73363-04 73363-05 73363-06 73363-07 73363-08 73363-01 73363-02 73363-03
hd =] O 5] All dimensions are reference only unless specifically toleranced. 19
&
eowﬂows;on INDE{IALAUTOMATION www.phdinc.com/pb L4 (800) 624-8511 AWHS01



OPTIONS: series pB SWING CLAMPS

(6.500)

1.004

‘ ‘ 0.177
25.5 <~
1236 - (Oesa) (2591 0.079 4]
[31.4] ‘ | | [2.0]
o L
| ! | = [ R
- | | 0.110J [ @ 0.157
M8 x 1.0 THREAD [2.8] [4.0]
m 1 NPN SWITCH PROVIDED m 1 PNP SWITCH PROVIDED
m 2 NPN SWITCHES PROVIDED m 2 PNP SWITCHES PROVIDED
PART NO. DESCRIPTION PART NO. DESCRIPTION
73360-01 | Solid State NPN (Sink) 5 - 28 VDC, 73360-02 | Solid State PNP (Source) 5 - 28 VDC,
165 mm Cable with Quick Disconnect 165 mm Cable with Quick Disconnect
SPECIFICATIONS 73360-01 SPECIFICATIONS 73360-02
SWITCHING LOGIC Solid State Output, Normally Open SWITCHING LOGIC Solid State Output, Normally Open
SENSOR TYPE NPN Current Sinking SENSOR TYPE PNP Current Sourcing
OPERATING VOLTAGE 5-28VDC OPERATING VOLTAGE 5-28VDC
SWITCHING CURRENT 200 mA max SWITCHING CURRENT 200 mA max
SWITCHING RATING 6 W max SWITCHING RATING 6 W max
CURRENT CONSUMPTION 20 mA @ 24V max (Switch Active) CURRENT CONSUMPTION 20 mA @ 24V max (Switch Active)
VOLTAGE DROP 0.5V @ 200 mA max VOLTAGE DROP 0.5V @ 200 mA max
LEAKAGE CURRENT 0.01 mA max LEAKAGE CURRENT 0.01 mA max
INDICATOR Red LED INDICATOR Green LED
CABLE @2.8,3C, PVC CABLE @2.8,3C, PVC
SENSITIVITY 40 Gauss SENSITIVITY 40 Gauss
TEMPERATURE RANGE -10° to 70°C TEMPERATURE RANGE -10° to 70°C
SHOCK 50G SHOCK 50G
VIBRATION 9G VIBRATION 9G
ENCLOSURE CLASSIFICATION IP67 (NEMA 6) ENCLOSURE CLASSIFICATION IP67 (NEMA 6)
PROTECTION CIRCUIT Power Source Reverse Polarity, PROTECTION CIRCUIT Power Source Reverse Polarity,
Surge Suppression Surge Suppression
PIN 1 PIN 4 PIN 1 PIN 4
BROWN (BROWN) (BLACK) BROWN (BROWN) (BLACK)
SINK BLACK SOURCE | BLACK
(NPN) LOAD (PNP) LOAD
BLUE ® -0¢ BLUE ® -oc
PIN 3 PIN 3
(BLUE) (BLUE)
Switches are provided on port side.
iR \.
O {
2 SWITCHES
PROVIDED ) ng(}rgEHD %
(SW42 & SWS2) \‘D\D (SW41 & SW51)
| 1O8

63549-xx CORDSET WITH FEMALE QUICK CONNECT

Provides a cordset with female quick connect and additional cable.

MODEL NO.

63549-02

63549-05

20

AWHS01

All dimensions are reference only unless specifically toleranced.

WIRE COLOR
BLUE

NUMBERS IN [ ] ARE IN mm. IMPERIAL
EQUIVALENTS ARE PROVIDED FOR CONVENIENCE.

A "
<2000 {508] >
47

RoLoR WIRECOLOR |
LETrEAn DI WIRECOLOR BROWN |
78.74[2 m]
196.85 [5 m] @ 0.402 pivg 0689119317 |
[10.2] <—1.299 [34.8]

www.phdinc.com/ph  (800) 624-8511

CABLE x @ 0.177 [4.5]

i [=[=0]#]
P B o
SOLUTIONS FOR INDUSTRIAL AUTOMATION



PNEUMATIC POWER CLAMPS

Major Benefits
¢ Manual release of clamp is achieved by using common tools
without removing plugs while providing contamination resistance.

 Self-locking internal threads throughout eliminate need for thread
locking adhesives or additional locking components.

¢ Flange mounting option provides a unique alternative to typical
clamp mounting configurations.

 All units are positional switch ready.

PEC34

Our cam/roller drive system is
superior over typical toggle styles
(see page 24)

enclosed design prevents particles and weld
slag from entering

multiple output shaft options available for
mounting arms on either or both sides providing
clamping flexibility depending on application
requirements

cam design locks clamp in closed
position for last 6° of rotation, ensuring
part retention if air pressure is lost and
makes initial setups easier

cam design provides widest c
range ?Lrégi:nc:?ﬂ?;gg cylinder mounted switches provide low cost
/— solution for position sensing of non-welding

applications

each clamp size is available in two bore sizes,
providing various configurations and options
to fit a wide range of clamping solutions

weld field immune switch
option provides consistent
position sensing

hda==8 :
- .
EOLUWNSFOR INDUSTRIAL AUTOMATION WWW.phdmc.cﬂm/pec L (800) 624-8511 AWHS01




ORDERING DATA: series PEc PNEUMATIC POWER CLAMPS

TO ORDER SPECIFY:
Model, Clamp Size, Bore Size, Output Shaft, Design No.,
Arm Rotation, and additional options if desired.

——I

—1

Options may affect unit length. See dimensional
pages and option information details.

—r——
e e ] =
PECxxD PECxxR PECxxL
PORT LOCATION CYLINDER SWITCH OPTION
BLANK is Standard BLANK - None (See Note 1)
Position 1 SWO00 - Magnet for Switches Installed
P2 - Position 2 MOUNTING OPTIONS SW41 - 1 NPN Switch Installed
CLAMP SIZE ARM ROTATION P3 - Position 3 BLANK - Standard SWA42 - 2 NPN Switches Installed
2,3,4 OUTPUT SHAFT (degrees) P4 - Position 4 MO001 - Flange mounting cylinder body SW51 - 1 PNP Switch Installed
See Clamp D - Double 96° - U-Style Arm P2 & P4 available Available on PEC34 only. SW52 - 2 PNP Switches Installed
Compatibility L - Left See Note 4. ARM OPTIONS on PEC22, PEC33, M002 - Flange mounting plate Available on PEC22, PEC3x, PEC44 only.
chart. R - Right 105° - Standard BLANK - None PEC44 units only. Available on PEC23 & PEC45 only.| | See Note 1.

L

,_l\_\l_

.

,_1

MODEL | | BORE SIZE | | DESIGN NO. SHAPE/LOCATION ORIENTATION PORT FITTINGS (BOTH PORTS) POSITION SENSOR OPTIONS SEAL OPTION
2-25mm 2 - Imperial D - Straight, Both Sides 0-0° Clamp BLANK - None Blank - No sensor BLANK - Standard
3-32mm 6 - Metric L - Straight, Left 9-90° Clamp LAA - 90° Swivel Elbow, Metal Px1xx- Position sensor V4 - Harsh
4-40 mm R - Straight, Right LBB - 90° Swivel Elbow, Plastic (see Position Sensor Environment
5-50 mm U - U-Style, Centered Option Code) See Note 1.

See Clamp See Note 2.
Compatibility MOUNTING STYLE
chart. 00 - Blank
01 - Standard Mounting
POSITION SENSOR OPTION CODE
St oY Piiss
QUE TTTT

MODEL| SIZE | mm | in-lb Nm

PEC22 2 25 125 14 SENSING OPTION CONNECTOR POSITION

PEC23 5 30 205 23 S - Standard 1- Earallel to olutput shaft ot

PEC33 3 32 250 28 R - Reversed 9 - Perpendicular to output shai

PEC34 3 40 400 45

PEC44| 4 | 40 | 570 | 64 SWITCH HOUSING OPTION N -No smlnTCH OPTION

PEG45| 4 | 50 | 900 | 102 1~ Position 1 A-5-pin AC/DC Switch (Turck)

D - 4-pin PNP DC Switch (P +F)
E - 4-pin PNP DC Switch (Turck)

OPTION COMPATIBILITY F - 4-pin PNP DC Switch (Efector)
OPTION H -4-pin NPN DC Switch (P + F)

MODEL | -P2 | -P4 |-M001[-M002-SWxx J- 4-2in NPNDG Swich (Turck)

PEC22 | YES | YES | NO | NO | YES NOTES:

PEC23 | NO | NO | NO | YES | NO 1) Magnet will be installed if cylinder switches are ordered. Units with

PEC33 | YES | YES | NO | NO | YES -V4 option are not available with magnet in cylinder (SWxx option).

PEC34 | NO | NO | YES | NO | YES 2) All units come standard with PSxxx/PRxxx switch target.

PEC44 | YES | YES | NO | NO | YES 3) Model PECxxD must be ordered for AUxxx arm options.

PEG45 | NO | NO | NO | YES | NO 4) All U-arms come standard with 96° rotation. Contact PHD for units

. A ) - that require 105° rotation and U-arm combinations.
Options not listed are available on all units.

CAD Configurator
Assistance

Use PHD’s free online application at
www.phdinc.com/cad

22 i ol O] 8]
: phde &
WWW. phdlnc . com/pec L4 (800) 624-8511 SOLUTIONS FOR INDUSTRIAL AUTOMATION

AWHS01



ENGINEERING DATA: series PEc PNEUMATIC POWER CLAMPS

SPECIFICATIONS SERIES PEC
PISTON SEALS Carboxilated Nitrile, compression type
WORKING PRESSURE 40 psi min. - 100 psi max.
OPERATING PRESSURE -20° to +180°F [-28° to +82°C]
LUBRICATION Factory lubricated for life
CLAMP MAX. DISPLACEMENT
MODEL | BORE | TORQUE | HOLDING | JiO%ECOR SPLAC WEIGHT | TypicAL | MREVRC'E
SIZE 87 psi [6 bar] | TORQUE CLOSE OPEN BACKLASH
mm | in-lb | Nm | in-lb | Nm sec in® cm?® in® cm® lh kg Cv
PEC22 25 125 14 663 75 0.6 1.53 251 1.18 19.3 2.0 0.91 1°+£0.5° 0.04
PEC23 32 205 23 663 75 0.6 2.51 4141 2.16 354 2.1 0.95 1°£0.5° 0.06
PEC33 32 250 28 1593 | 180 0.6 3.22 52.8 2.41 39.5 3.2 1.45 1°£0.5° 0.08
PEC34 40 400 45 1593 | 180 0.6 5.03 824 4.22 69.2 35 1.59 1°£0.5° 0.13
PEC44 40 570 64 3363 | 380 0.6 6.32 | 103.6 | 5.31 87.0 49 2.22 1°+£0.5° 0.16
PEC45 50 900 102 | 3363 | 380 0.6 9.87 | 161.7 | 8.86 | 145.2 5.4 2.45 1°+ 0.5° 0.25
MAXIMUM TOOLING WEIGHT
2]
Clamp force is clamp torque divided by the distance from d AN
clamp pivot. ;
Holding torque is the maximum external torque that can g *° PECA
be applied against the arm without destroying the clamp 2 () <
once the clamp has entered the locking/high force region. § RN
Maximum tooling weight is the recommended maximum = [1'42] ~- . NV —
additional weight at a given distance from the pivot that (0] \\\ -k o___] I
will provide reliability after millions of cycles. 1 = —_—]——== ==
0] PEC2
0
[53.8] [763.2] [mﬁ.e] [137] [1562.4] [1777.31 [20%.2]
LENGTH OF CLAMP ARM in [mm]
LOCKING MECHANISM
The Series PEC Clamp incorporates a cam/roller locking mechanism To manually unlock the clamp, first remove air pressure, then insert
that prevents the arm from opening if air pressure is lost. The lock a small screwdriver or hex wrench (approximately 4 mm) through
works in a range of 6 degrees from the fully closed position. the slit in the lock release cover. Press down firmly and move the
cam approximately one inch to get it out of the locking area. The
lock release cover is made of a durable urethane material that will
reclose and form a dust cover once the screwdriver or hex wrench
is removed.
6° Press down
j firmly to
unlock arm
L LOCKING RANGE/
o © HIGH FORCE REGION
o o Release
LOCKING RANGE/
HIGH FORCE REGION
J==cn 23
pPNoc= o .
SOLUTIONS FOR INDUSTRIAL AUTOMATION WWW.phdlnc.com/pec L (800) 624-8511 AWHS01



ENGINEERING DATA: Series Pec PNEUMATIC POWER CLAMPS

CAM DESIGN

PHD’s cam design maintains clamp force and locking range without
the need for adjustable features. Toggle clamps require adjustable
features or shims to maintain clamp force and locking feature.

CAM VS. TOGGLE COMPARISON

Example: PHD Cam vs. Toggle

Toggle clamp with 1200 in-Ib [136 Nm] torque vs. PHD clamp with 900 in-Ib [102 Nm] torque
Typical part variation = 0.04 in [1 mm]

Clamp force required = 250 Ib [1112 N]

Unit must stay locked during clamping

Distance from clamp pivot to hold down location = 3 in [76 mm]

Force = Torque/Distance

PHD CAM TYPICAL TOGGLE
[I:\II;I‘:;MLEP %OF | JAWIS | CLAMP FORCE | %OF | JAWIS |CLAMP FORCE VA::)-\BI:II-ON
FORCE | LOCKED Ib [N] FORCE | LOCKED Ib [N]
0 100% Yes 300 [1334] 100% Yes 400 [1779] 0
0.1° 100% Yes 300 [1334] 70% Yes 280 [1245] 0.005
0.6° 100% Yes 300 [1334] 55% Maybe 220 [979] 0.031
1° 100% Yes 300 [1334] 50% No 200 [890] 0.052
2 100% Yes 300 [1334] 40% No 160 [712] 0.105
Y 100% Yes 300 [1334] 30% No 120 [534] 0.210
6° 70% Yes 210 [934] 25% No 100 [445] 0.314

Shaded areas indicate values do not meet requirements for toggle designs.

CLAMP |
DISTANCE

CLAMP FORCE

PART
WARIATION
CLAMP ANGLE
PEC45 VS. TOGGLE COMPARISON
1200
[136]
g |\ PEC45
i 800 \
g PHD
c 7 LOCKS
Z 169 Yp,
= .| TOGGLE G
45 | LOCKS
200
[23] 0 3 4 5
ROTATION degree
24 o

. (= B8
AWHSO01 Www.phdlnc. com/pec L4 (800) 624-8511 EOLU'HONS FOR INDUSTRIAL AUTOMATION



DIMENSIONS: series PeEc PNEUMATIC POWER CLAMPS

2.219
PEC2x O )
NOTE: PEC22D dimensioned Ay —> 0630
[6.4] [16] o.[%?4
2X0.394 — 45°
2.204 q;_ — e e [10] /
(561 0709[18] | \
| 1 7
1.378 | ] DETAIL S
(5] 1'13%1 0.197
¢ 0.689 * bl ¢ Oigg?
E fe— p—
— [175] R2.107 =y < oue w
! (53] 3 0.669 ‘
1,949 \ /] 45° :
= 0.709 M l l l i
o B te) O | S o0sa7 15 1 T 0.866 L
5 i N — [25] [30] 1.890 [22] et s B
=> o788 5 ¢ f [48] 2480 T \ e 1[-21312
7815 | P2 \ [20] - \ [63] L | .
[198.5] 1576 T iy l /! | T
9.866 1ol 4X M5 x 0.8 THD 0['17 3]9
[149] il 1/8 NPT [1/8 BSPP 2X M5 x 0.8 THD x 0.394 [10] DP ;
O OPEN PO[RT ] BOTH SIDES x0.394 [10] OP
F” (UNCLAMP)
P3 i ﬁ)(() smm ?LIP[—F]ITD[;OWEL
1/8 NPT [1/8 BSPP] X 0197 [5 |
| bt U8k pORT BOTH SIDES
it (CLAMP) |
l_pa — >l «—B15
B4 MODEL NUMBER
813 LETTER PEC22 PEC23
B12 DIM in mm in mm
B12 | 1576 | 40.0 | 1.634 | 415
B13 | 0788 | 20.0 | 0.817 | 20.8
B4 | 1.855 | 471 | 1.851 | 47.0
B15 | 0391 | 99 | 0420 | 107
P2 | 3504 | 89.0 | 2992 | 76.0
P3| 1.988 | 505 | 2.413 | 61.3
P4 | 0630 | 160 | 0304 | 7.7
PEC3x 0.253—( |— 2[%?
NOTE: PEC33D dimensioned [6.4] f—>1—0.866 0.432
——m | @ [11]_ 450
‘ 2X 0510 /
N = % (
\N_"
1.377 DETAIL S
E 1-;,%1
f i [17.5] (30]
2.323 ‘ / [
R 2.638
159] | [67]$
| = 0.787
© ‘ [20] O
— |
9212 | 2 P 0['293]6 = MODEL NUMBER
[234] N 1811 LETTER PEC33 PEC34
6.889 ‘A [46] T DIM in mm in mm
[175] 8 B12 | 1.870 | 47.5 | 1.890 | 48.0
|l e e (18 BSPP) 2XMoX0BTHD X 0394 [101DP 7843 170635 | 237 | 0.945 | 240
P3 ﬁé&m"& %EP[—g]ITD%OWEL B15 | 0505 | 12.8 | 0.587 | 14.9
1/8 NPT [1/8 BSPP X 0.
| P[ORT ] BOTH SIDES P2 | 3367 | 855 | 3425 | 87.0
o (CLAIP) P3| 3147 | 799 | 3.031 | 77.0
@ P4 | 0610 | 155 | 0512 | 130
<1;>—><;P4 L ——> «—B15
| g3 B14—
<—B12—>
i [=l=|O]] All dimensions are reference only unless specifically toleranced. 25

(= B8 .
eowmws FOR INDUSTRIAL AUTOMATION WWW.phdlnc.cﬂm/pec L (800) 624-8511 AWHSO01



DIMENSIONS: series PEc PNEUMATIC POWER CLAMPS

PEC4x e
NOTE: PEC44D dimensioned 5 e % 0630
— el &
j ‘
2913 ¢ = . | {
. ] /
N/

1.574 1378 21] 2X 0.630 DETAIL S
¢ [40] [35] [16]
0787 ——> «—0.354
T ‘ [20] L= 19
2.913
[74] ! Rfégf“}\;\/ s 45°
/ \4
ZIN\
\ b
‘ ) 1.969
B 94 o ) 3484 3878
11.496 P2 \ 1025 a° > (88.5] [98.5]
[292] ‘ [26] &
e 2050 0984 A AN
G Sl e g
‘ 2X M6 x 1 THD x 0.394 [10] DP
| ™~——1/8 NPT [1/8 BSPP] BOTH SIDES (o)
OPEN PORT \
P3 (UNCLAMP) % &”‘“6 gls_lspl-g]lTDDPOWEL
XU.
1/8 NPT [1/8 BSPP
W F’[ORT ] BOTH SIDES
‘f y (CLAMP)
AV
P4 L jems
j B14
~—B13
B12
1772 MODEL NUMBER
1024 {& LETTER PEC44 PEC45
[26] 5,047 DIM in mm in mm
[52] B12 | 2.205 | 56.0 | 2.283 | 58.0
b Clo> 0] B13 1.102 28.0 1142 29.0
B B14 | 2680 | 681 | 2788 | 70.8
‘%gg? | B15 | 0610 | 155 | 0610 | 155
AXM10 % 1.5 THD PECAS P2 | 4311 [ 1095 | 4.390 [ 1115
x 0.591 [15] DP CYLINDER P3 | 3839 | 975 | 3662 | 93.0
MOUNT P4 | 0748 | 19.0 | 0709 | 18.0
OUTPUT SHAFT CONFIGURATIONS
——1l —— ——1
=) — g | =]
PECxxD PECxxR PECxxL
26 All dimensions are reference only unless specifically toleranced. M Jo = O] 6]

. ®
AWHSO01 Www.phdlnc. com/pec L4 (800) 624-8511 eOLU'HONS FOR INDUSTRIAL AUTOMATION



OPTIONS: Series PEC PNEUMATIC POWER CLAMPS

AXXXX ARM OPTION
ARM OPTION CODE
This option provides a clamping arm at multiple locations and AROO1
orientations in both standard and blank mounting configurations. TTT
Consult PHD for alternative arm designs. T L AToTTRaE
D - Straight, Both Sides 00 - Blank
L - Straight, Left 01 - Standard Mounting

R - Straight, Right
U - U-Style, Centered

ORIENTATION
0 - 0° Clamp
9 - 90° Clamp

ARM OPTIONS - SHAPE/LOCATION

Double Right Left
o o 0000 ——{M o o 0000
o_o 0000 o_o 0000 ——
Y
%
ADOO1 ARO001 ALOO1

ARM OPTIONS - ORIENTATION

90° Closed/Clamped

(AR O°
* Closed/Clamped

e

Pt RN

n “‘\ I \\‘ =
W -

Open/Unclamped

Ax0xx - 0° Ax9xx - 90°

CAUTION:

Clamps with U-Style arms in the 90° clamp position (AU9xx)
and positional sensors require units to have no more than
96° rotation to prevent damage to unit.

AUxxx

E3
eouﬂhowsgoamwmmmow WWW.phdinc.com/pec o (800) 624-8511

Centered

AU001

27

AWHSO01




OPTIONS: Series PEC PNEUMATIC POWER CLAMPS

ARxxx

| D Ao 2X D A9
=]
*J—Io

A5—> < T

2X A10
DOWEL HOLE

MODEL NUMBER
Ad— LETTER PEC2x PEC3x PECAx
AT DIM in mm in mm in mm
A3 ‘ Al 1181 | 30.0 | 1.653 | 42.0 | 1.969 | 50.0
A2 | 0591 | 150 | 0735 | 18.7 | 0.866 | 22.0
J A3 | 3.661 | 93.0 | 4.134 | 105.0 | 4.213 | 107.0
| 2 A4 | 2559 | 650 | 3.110 | 79.0 | 3.150 | 80.0
A A5 | 0394 | 10.0 | 0.394 | 10.0 | 0.394 | 10.0
N i T A6 | 0.787 | 20.0 | 0787 | 20.0 | 0.787 | 20.0
Al A7 | 0.787 | 200 | 0.787 | 20.0 | 0.787 | 20.0
o o | A8 | 0375 | 95 | 0500 | 12.7 | 0.625 | 15.9
N A9 | 0256 | 65 | 0276 7.0 | 0276 | 7.0
o 211 SHeS A0 | 4mmSLIPFIT | 6mmSLIPFIT | 6mm SLIP FIT
Al M5 SHCS M6 SHCS M8 SHCS
A13 TORQUE A12 M4 HEX M5 HEX M6 HEX
A13 | 75in-Ib | 8.5 Nm [125 in-Ib| 14 Nm |250 in-Ib| 28 Nm
NOTE:
DIMENSIONS A4 THROUGH A10 NOT AVAILABLE WITH Axx00 OPTION
ARM KITS
ARM, STRAIGHT | ARM, STRAIGHT
MODEL | BLANK (-Axx00) | STD (-Axx01)
PEC2x 80569-00 80569-01
PEC3x 78585-00 78585-01
PEC4x 80570-00 80570-01
KITS INCLUDE ARM, ARM CLAMP AND SCREWS
A6—> fe——
AUxxx . X DAY
N
= 09 5<>.|7AT8 Must be ordered as: PECXxD-x-96
© 2X A10
A5—> DOWEL HOLE MODEL NUMBER
A — . LETTER | PEC2x PEC3x PECAX
DIM in mm in mm in mm
A3 ‘ Al 1181 | 300 | 1653 | 42.0 | 1.969 | 50.0
A2 | 0591 | 150 | 0.735 | 187 | 0.866 | 220
A3 | 4.096 | 104.0 | 4448 | 114.0 | 5.276 | 134.0
\ / |A2 A4 | 3071 | 780 | 3110 | 79.0 | 4174 | 106.0
A5 | 0394 | 100 | 0394 | 10.0 | 0394 | 10.0
i T A6 | 0.787 | 200 | 0.787 | 20.0 | 0.787 | 20.0
Al A7 | 0787 | 200 | 0.787 | 200 | 0787 | 20.0
| A8 | 0472 | 120 | 0500 | 127 | 0625 | 159
N A9 | 0256 | 65 | 0276 | 7.0 | 0276 | 7.0
L f\>1<2AI1_I1E§,Hcs A0 | 4mmSLIPFIT | 6 mmSLIPFIT | 6 mm SLIP FIT
Al M5 SHCS M6 SHCS M8 SHCS
A13 TORQUE A2 M4 HEX M5 HEX M6 HEX
A13 | 75in-Ib | 8.5 Nm [125 in-Ib] 14 Nm |250 in-Ib] 28 Nm
NOTE:

28

AWHS01

DIMENSIONS A4 THROUGH A10 NOT AVAILABLE WITH Axx00 OPTION

KITS
ARM, U-STYLE | ARM, U-STYLE 96°
MODEL | BLANK (-AUx00) | STD (-AUx01) | ROTATION
PEC2x 80569-02 80569-03 78600-01
PEC3x 78585-02 78585-03 78600-02
PEC4x 80570-02 80570-03 78600-03

Standard U-Style Kit ARM KITS INCLUDE ARM, ARM CLAMP AND SCREWS.

ROTATION KITS ADD PARTS TO PISTON AND REQUIRES
SOME DISASSEMBLY.

All dimensions are reference only unless specifically toleranced.

www.phdinc.com/pec  (800) 624-8511

i [=[=0]#]
P B o
SOLUTIONS FOR INDUSTRIAL AUTOMATION



OPTIONS: Series PEC PNEUMATIC POWER CLAMPS

m FLANGE MOUNTING CYLINDER BODY

This option provides an integrated flange mount to the bottom of the
clamp to simplify mounting. This option is only available on PEC34
units. Consult PHD for alternative mounting options.

}

B14 B21 |]] B24 po3

<—B20—> 4X @ B22

— MODEL NUMBER
©) LETTER PEC34
| B DIM in mm
e A B2 6.889 | 175
B12 1.890 48
B14 2.362 60
82 o) B17 0.492 12
B18 0.551 14
B19 2.992 76
B20 2.441 62
B21 1.772 45
L B22 0268 | 658
817 [ QM B23 1795 | 456
0023 | 06

— B18 B24
«—B12—>
B19

m FLANGE MOUNTING PLATE

This option provides a bolt-on mount to the bottom of the clamp
to simplify mounting. This option is only available on PEC23 and
PEC45 units. Consult PHD for alternative mounting options.

B24

T [ B23
314321‘ m | ?

O
an)

£
KIT 80578-01 INCLUDES
| B20—! \4X @ B22 MOUNTING PLATE AND
~ MOUNTING SCREWS -
2 SCREWS FROM EXISTING
CYLINDER WILL BE REPLACED
BY LONGER SCREWS
TORQUE TO 70 in-Ib [8 Nm]
—— BB
© MODEL NUMBER
LETTER PEC23 PEC45 mg 388758302
DIM in_| mm| in_ | mm MOUNTING PLATE
B2 | 6260 | 159 | 9.202 